Antro Precalculus

Unit 9 Introduction
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1. How do you see the pattern growing? Use colors to show where you see t
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ew squares being added.

. Draw Figure 4. How many small squares would be in Figure 4? In Figure 5?
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3. How many small squares would be in Figure 43? Describe what it would look like.
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4. How many small squares wotld be in Flgure 0? hat would it look like?
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5. Can you come up with arule rule for how many small squares would be in anure n?
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Intro Precalculus

Unit 9 Notes

Lesson 9.1—Using Sequences and Series to Describe Patterns

a, gives a sequence where _f ' is the term number and the output of a,, gives the term VA lgg: E

Explicit rules “depend onaprcwous term. The rule is in terms ofn —l{z*Z
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Recursive rules DO depend on a previous term. The rule always has lwo parts.
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1. Write the first 4 terms of each sequence, given the following : 2—7——'
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2. Find a;. Then write an explicit rule for a,,. -2 (j - Qk ,j 3 Tl

0 3,6,9.12,15,18, @ : %%){SSJ

Mu }h,o es o§ 3. a,- 3

pre vious term

4. Write a recursive rule for the a,, term:
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5. Evaluate.
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6. How many small squares will be in figure 43? ! ;
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